
ND1750 Eksempler

A ∧ ¬A → false

1 A ∧ ¬A P 1

2 A 1,Simp 1

3 ¬A 1,Simp 1

4 false ∨ A 2,Add 1

5 false 4,3,DS 1

6 A ∧ ¬A → false 1,5,CP



ND1750 Eksempler

A → A

1 A P 1

2 A → A 1,1,CP



ND1750 Eksempler

¬¬A → A

1 ¬¬A P 1

2 A ∨ ¬A XM

3 A 2,1,DS 1

4 ¬¬A → A 1,3,CP



ND1750 Eksempler

1 ¬¬A → ¬¬A T

2 A ∧ ¬A → false T

3 A P 3

4 ¬A P 4

5 A ∧ ¬A 3,4,Conj 3,4

6 false 2,5,MP 3,4

7 ¬¬A 6,FE 3,4

8 ¬A → ¬¬A 4,7,CP 3

9 ¬A ∨ ¬¬A XM

10 ¬¬A ∨ ¬¬A 9,8,1,CD 3 1

11 ¬¬A 10,Contr 3 1

12 A → ¬¬A 3,11,CP



ND1750 Eksempler

(A → B) → ((¬A → B) → B)

1 A → B P 1

2 ¬A → B P 2

3 A ∨ ¬A XM

4 B ∨ B 3,1,2 CD 1,2

5 B 4,Contr 1,2

6 (¬A → B) → B 2,5,CP 1

7 (A → B) → ((¬A → B) → B) 1,6,CP



ND1750 Eksempler

A → (B → (A ∧ B))

1 A P 1

2 B P 2

3 A ∧ B 1,2,Conj 1,2

4 B → (A ∧ B) 2,3 CP 1

5 A → (B → (A ∧ B)) 1,4,CP



ND1750 Eksempler

¬A → ¬(A ∧ B)

1 A ∧ B P 1

2 A 1,Simp 1

3 A ∧ B → A 1,2,CP

4 ¬A P 2

5 ¬(A ∧ B) 3,4,MT 2

6 ¬A → ¬(A ∧ B) 1,5,CP



ND1750 Eksempler

¬B → ¬(A ∧ B)

1 A ∧ B P 1

2 B 1,Simp 1

3 A ∧ B → B 1,2,CP

4 ¬B P 4

5 ¬(A ∧ B) 3,4,MT 4

6 ¬B → ¬(A ∧ B) 1,5,CP
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true

1 true TI



ND1750 Eksempler

¬false

1 ¬false → ¬false T

2 false P 2

3 ¬false 2,FE 2

4 false → ¬false 2,3,CP

5 false ∨ ¬false XM

6 ¬false ∨ ¬false 5,4,1,CD

7 ¬false 6,Contr



ND1750 Eksempler

¬A → (A → B)

1 A ∧ ¬A → false T

2 ¬A P 2

3 A P 3

4 A ∧ ¬A 3,2,Conj 2,3

5 false 1,4,MP 2,3

6 B 5,FE 2,3

7 A → B 3,6,CP 2

8 ¬A → (A → B) 2,7,CP



ND1750 Eksempler

B → (A → B)

1 B P 1

2 A P 2

3 B ∨ B 1,Add 1

4 B 3,Contr 1

5 A → B 2,4,CP 1

6 B → (A → B) 1,5,CP



ND1750 Eksempler

A → (¬B → ¬(A → B))

1 A P 1

2 A → B P 2

3 B MP 1,2

4 (A → B) → B 2,3,CP 1

5 ¬B P 5

6 ¬(A → B) 4,5,MT 1,5

7 ¬B → ¬(A → B) 5,6,CP 1

8 A → (¬B → ¬(A → B)) 1,7,CP



ND1750 Eksempler

A → (A ∨ B)

1 A P 1

2 A ∨ B 1,Add 1

3 A → (A ∨ B) 1,2,CP



ND1750 Eksempler

B → (A ∨ B)

1 B P 1

2 A ∨ B 1,Add 1

3 B → (A ∨ B) 1,2,CP



ND1750 Eksempler

¬A → (¬B → ¬(A ∨ B))

1 ¬A P 1

2 A ∨ B P 2

3 B 2,1,DS 1,2

4 (A ∨ B) → B 2,3,CP 1

5 ¬B P 5

6 ¬(A ∨ B) 4,5,MT 1,5

7 ¬B → ¬(A ∨ B) 5,6,CP 1

8 ¬A → (¬B → ¬(A ∨ B)) 1,7,CP
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